Free Fall

Conceptual Questions
1. If an object is accelerating, the velocity of the object (CHANGES, STAYSTHE-SAME)
2. An object is thrown upwards. The velocity of the object at its highest point is  ZERO .
3. [Ifthe object had a zero velocity, would the object be moving? (¥ES, NO)
4. A ball is thrown straight up in the air.

(a) Is the velocity changing before it is at its highest point? (YES, NO)

(b) Is the velocity changing after it is at its highest point? (YES, NO)

(c) Is the velocity changing at its highest point? (YES, NO)

(d) Is the object accelerating at its highest point? (YES, NO).
5. You stand on a table and throw a ball up at a speed of 10.0 m/s. Your friend is lying on the

floor and catches the ball. Just before your friend catches the ball, the ball is moving (FHE
SAME-SPEED, FASTER THAN, SEOWER-TFHAN) you threw it.
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